
SPACER ROD
 NOT TO EXCEED 
30.00" SPACING

AVAILABLE IN
72" OR 96"
SECTIONS

 32-36° 

36" OR 42" 
RAIL HEIGHT

G

G

AA

1/2" STAINLESS STEEL
VERTICAL SUPPORT 
(31" OR 37")

1/8" STAINLESS STEEL 
CABLE (31" OR 37")

SPACER ROD
 NOT TO EXCEED 
30.00" SPACING

B

C

SECTION G-G

 1.868 

 1.750 

DETAIL B
SCALE 1 : 2

 1.250 

 1.500 

DETAIL C
SCALE 1 : 2

 2.500 

 2.500 

SECTION A-A
SCALE 1 : 2

POST WITH PLATE SIZES:
-2 1/2" SQUARE (LINE POST ONLY)
-3 1/4" SQUARE (LINE, END POST or *PORCH POST)
-4" (*PORCH POST ONLY)
(2 1/2 & 3 1/4 AVAILABLE IN 38" or 44" height)
* PORCH IS 108" IN HEIGHT

NOTES:

ITEM 3  IS THREADED INSIDE OF ITEM 21.

(BOM APPLIES ONLY TO COMPONENTS USED IN THIS EXAMPLE) 

AMERICAN SERIES RAIL 
PROFILE

REQUIRED INSTALLATION COMPONENT LIST
ITEM NO. DESCRIPTION MATERIAL

1 72"/96" VERTICAL CABLE LEVEL BOTTOM RAIL, PUNCHED 6063-T6
2 7/16" X 1" FLANGE NUT (VERT. CABLE) 316L STAINLESS STEEL
3 .125 CABLE END THREADED CRIMP (VERT. CABLE) 316L STAINLESS STEEL
4 .125" x 32.188" SS CABLE (Vert Cable Cut length) 316 STAINLESS STEEL
5 .125" CABLE COMMON CRIMP (VERT. CABLE) 316L STAINLESS STEEL
6 3/8" PLASTIC WASHER UHMW-PE VIRGIN
7 6'/8'  SNAP TOP CAP 6063-T6
8 31" VERTICAL CABLE SPACER ROD 316L STAINLESS STEEL
9 2-1/2" SQ. POST 6105-T5

10 .375"-.5"  X 4" SQ. POST PLATE FOR 2.5" POST 6061 ALLOY
11  POST TRIM DIE CAST ALUM.
12 CAP OPTION A380 DIE CAST
14 32°-36° BOTTOM STAIR BRACKET, DRILLED (AM/AR/KS) A380 DIE CAST
15 #12 X 1" FLAT HEAD SCREW (FINE THREAD) ZINC PLATED
16 #10 X 3/4" PAN HEAD SCREW (FINE THREAD) ZINC PLATED
17 32°-36° TOP UP STAIR BRACKET, DRILLED A360-1 DIE CAST
18 32°-36° TOP DOWN STAIR BRACKET, DRILLED A360-1 DIE CAST

REVISIONS

REV. DESCRIPTION DATE BY

- INITIAL CREATION 11/17/2020 EH

01 ADJUSTED FOR CLARITY 11/9/2022 JC

02 12/29/2022 JC

VERTICAL CABLE INFILL, 
36"/42"HT. X 6'/8'W. STAIR

02
DO NOT SCALE 

DRAWING

112014
SHEET 1 OF 1

UNLESS OTHERWISE SPECIFIED:

SCALE: 1:10

REV

B
SIZE

TITLE:

NAME DATE

APPROVED BY
MODELED BY
DRAWN BY

N/A SEE BILL OF MATERIALS
FINISH MATERIAL

Key-Link Fencing & Railing, Inc
150 Orlan Road, New Holland, PA 17557

1. DIMENSIONS ARE IN INCHES
2. BREAK ALL SHARP EDGES
3. TOLERANCES:
      FRACTIONAL  1/64"
      ANGULAR:MACH 1.0  BEND 1.0
      TWO PLACE DECIMAL 0.01"
      THREE PLACE DECIMAL 0.005"

DWG.  NO.

THE INFORMATION CONTAINED
IN THIS DRAWING IS THE PROPERTY 
OF KEY-LINK FENCING & RAILING.

ANY REPRODUCTION IN PART OR IN 
WHOLE WITHOUT THE WRITTEN PERMISSION

OF KEY-LINK FENCING & RAILING IS
PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

E.Hunt

D.Kinsey
11/17/2020
11/17/2020

11/17/2020

WEIGHT: 35.9458

E.Hunt

PROJECTION

A A

B B

4

4

3

3

2

2

1

1


	Sheet1
	Drawing View1
	Section View G-G
	Detail View B (1 : 2)
	Detail View C (1 : 2)
	Section View A-A


